Section 6.1: ( Verifying Identities )
Answer True or False for each given equation .

1) sin(—6) tan(-8) + cos(—@) =secd, 2) sin* & —cos* §=sin’H—cos’ b
3) c0s* @ —sin®(—@) =1, 4) secd —cos@ =sindtand , 5) SINO+1@N0_1no
1+ cosé

6) Sin“@—cos* @ = 2sin“0—1,7) tan @+ cot @ =secH csco,

8) cos’ A(1+tan* @) =1, 9) (csc’ @ —1)sin*H =cos’ 4,

10) cos® O(1—sec’ @) =sin” @ ,11) (sin@ —cosH)* =sin” & +cos” &
L cscd

12) (sin? 6 +cos®#)? =sin @+cos 6, 13) — =sec? 0
sin@ —cscé
. secd —cosd _sing, 15 tan(—6) + cot(-6) _esc?h
tand tan(—9)
L oo0) __ coco  17) 8n(=0) _ging
csc(—0) sec(—60) sec(—60)
- - 2 .
SIn6___SIN__ 5 cote. 19)&'291:c0329 ,
1-cosé 1+_c039 csc”
20)1__C080+ sind =2secd , 21) CSC(_Q)zsece,
sind  1-cosd cot(—6)
2 1-sing —cotd—cosé , 23) ta_n6?+cot6’ =sec’dcsc’ o
tan @ siné@ cosd
2 J—
: secd =Cscé , 25) ﬁztane, 26)Lf1:tan26?,
sin@ +secd secd cos“ @
cscé 1 cotéd +tand cosd +cotdsing
= — , 28) secd = , 29) =2
1+cscd sinfd+1 csco cotd
30) L =secd+tand, 31) sin(=0) =secd , 32) sin(=0) sect _q

secd —tand tan(-6) tan(-6)

sind,



. 1+tan®(-6) cot’6+1 secé +cscé

. tan® 6 , 34) — cot’ @ , 35) —— =secéd csch
csc(—6) tan“ 6 +1 coséd+sind
€0 _sing . 37) (tan @ +1)* =sec” &+ 2tan @, 38) tanfsme =cosé
tan @+ cotd sec’ -1
1+sind  cosé coté cosd cosd )
9 = —— .40 > =CSch , 41) =—tan“ @,
cosfd 1-sind csc -1 cosd —secd
. . . cosd—secd . ,
42) (cos@—sind)(cos@+sinP)=1-2sin“ G , 43) 7 =sin“ g ,
sec
1) sin 6?_ —tan?@ . 45) sin 49_ _ 1 |
cscd—sind cosd+sind coséd
2c0s° 6 . 1+secé +tan’ 6
46) — _ —=1+sIn6, 47) =seco ,
sin“@+1-2sin@ +cos” & 1+secd
48) ZcotH—l —tan@ , a9) — %Y ——=-secd
csc” @ —cotd -1 1—-cos@d—sin“ 6
sin’ é secd  secd+1
50) =1+c0sé ,51) — —=1,
1-cosé sec/-1 tan“@
tan@ cotd _1-cotd ,53) secd -1 SeC9+1=—4CSCHCOt6’,

secé?+1_ secd -1

1+sin@ cosé@
——=C0sf+tand , 55) = =
1+sin@ cos¢d 1-sin@

52) — =
1+tan@ 1+tané@




